
Page 1 

METAL SEGOVIA SOFA

SKU - 619691

2022.09.23



3Back Cushion

G 3Seat Cushion

A

B

C

D

F

Seat Frame

Back Frame

Right Leg

 Left Leg

1

H-1

H-2

H-3

Short Allen Bolt (M6x40)mm

Spring Washer M6 

Flat Washer (M6x1)mm

13

15

15

4

Page 2

1

1

1

H-4

E  Center Leg 2

Allen Key 2T-1

4

4

Long Allen Bolt (M6x55)mm 2

H-5

H-6

H-7

Shorter Allen Bolt (M8x20)mm

Spring Washer M8 

Flat Washer (M8x1.2)mm



Page 3

World Market store

or call our customer service call center at call 1-877-967-5362.



 

 Page 4

H-5

H-6

H-7

Shorter Allen Bolt (M8x20)mm

Spring Washer M8

Flat Washer (M8x1.2)mm

Allen Key

x4

x4

x4

T-1 x2

Step 1

       
 

    
     

 

    
  

  

E

E

A

H-5
H-6

H-7

T-1

Clockwise

x2

  

  

Using a second person to assist you, place Seat Frame (A) onto a padded, non-marring surface. 
Position Center Leg (E) with the crossbar on Seat Frame (A) as shown in illustration.
Secure Center Leg (E) to Seat Frame (A) with Shorter Allen Bolts (H-5), Spring Washers (H-6) and
Flat Washers (H-7), stacking the hardware in the order as shown.

Note this step requires the slightly larger Spring Washers (H-6) and Flat Washers (H-7).
Engage all bolts first, then fully tighten them using provided Allen Key (T-1).
DO NOT OVER TIGHTEN.



 

 

Page 5

Step 2

     
 

 

Clockwise

 

H-2

H-3

H-4

Short Allen Bolt (M6x40)mm

Spring Washer M6

Flat Washer (M6x1)mm

Allen Key

x5

x5

x5

T-1 x2

B

H-2
H-3

H-4

T-1

x5

With the help of a second person, position Seat Frame (A) to Back Frame (B) as shown .

While one person holds Seat Frame (A) to Back Frame (B), secure using Short Allen Bolts (H-2), 
Spring Washers (H-3) and Flat Washers (H-4), stacking the hardware in the order as shown.

Engage all bolts first, then fully tighten them using provided Allen Key (T-1).

DO NOT OVER TIGHTEN.



 

 

Page 6

     
 

 

 

H-2

H-3

H-4

Short Allen Bolt (M6x40)mm

Spring Washer M6

Flat Washer (M6x1)mm

Allen Key

x8

x8

x8

T-1 x2

H-1 Long Allen Bolt (M6x55)mm x2

C

H-1
H-3

H-4
D

B

H-2
H-3
H-4

T-1

T-1

Clockwise

Clockwise

x2

x8

Step 3

 
 

Position Right Leg (C) with Seat Frame (A) and Back Frame (B) as shown.

(Right and Left Legs (C/D) contain tabs to rest on Seat Frame (A) to help with assembly). 

Secure Right Leg (C) to Seat Frame (A) using Short Allen Bolts (H-2), Spring Washers (H-3)

and Flat Washers (H-4). Secure Right Leg (C) to Back Frame (B) using Long Allen Bolts (H-1), 

Spring Washers (H-3) and Flat Washers (H-4). Stack all hardware in the order as shown. Repeat 

same process to secure Left Leg (D) to Seat Frame (A) and Back Frame (B).

Engage all bolts first, then fully tighten them using provided Allen Key (T-1).

DO NOT OVER TIGHTEN.



 Page 7

Step 4

Using a second person to assist you, turn the Bench upright. Place Seat Cushion (G) into position as

Next, place Back Cushion (F) into position as shown, making sure the zipper faces the bottom of   

NOTE: Levelers can be used for height adjustment to achieve stability only AFTER the unit

is moved to the desired location. DO NOT drag the unit as this may damage the levelers or ground..

shown, making sure the cushion zipper faces the back of the chair assembly.   

F F F

G G G

Leveler Feet Cap.

the chair assembly. Ensure all bolts are fully tightened. Assembly is now complete and the chair is    

ready for use.    

Ensure all bolts are fully tightened every 3 months to ensure stability.



Page 6

Care & Maintenance 

• Do not put hot items directly on furniture surface. 

• Do not clean furniture with harsh cleansers or polish.  

• Do not place furniture near heating or cooling vents. 

• Do not write on furniture without a padded barrier to protect the surface. 

• Store furniture or use an appropriate furniture cover during cold or 
inclement weather.

• Dust and pick-up spills using a clean, non-colored, lint-free cloth. 

• Stains may be removed with mild soap solution and damp cloth. 

• All products sold at World Market are not for commercial use and are 
intended for residential use only. 

BC80466
Text Box
All products sold at World Market are not for commercial use and are intended for residential use only. 

BC80466
Text Box
•

BC80466
Rectangle

BC80466
Text Box
Page 8



Page 9


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9



